
RE-TEST EXAMINATION, 2022
Semester: 5th

Subject code: CT-505
Subject: Transportation Engineering

Full Marks: 70

Duration: 3 hours
Instructior-rs:

1 . Qr,restions on Parl A are conrpLrlsory

2. Ansrvcr arr,, thrcc qucstions 1l'onr Part B

Questions
no.

PARI'.A, MARK-25

Qucstions marks

[ill irr thc blanks: I x I 0- I 0
'l-hc r-nccting o1'sccond twcnty 1'car road devclopnrcrrt plan was he ld

la in tl-re year ____,

Aggregatc Inrpact test is used to detcnline the
aggrcgatcs..

-l-hc slopping sight clistance is
clistancc.

Loss Anqclcs Abrasion tcst is usccl to nrcASLrc

agg|cgatcs.

Writc truc or lirlsc:

valLrc of
1b

rd

le

, Motor vcliiclc act was passcd in thc ycar ol
le

('anrbcr in 1l-rc roacl is providccl fbr

than ovcrtaking sight

Maxinrunr whccl basc clistarrcc proviclccl on lndian Il.Ci. tracks. is

C'llll tcst w:rs clcr,'clopcd in thc vcar

'l'hc slopc o['thc rvhccl l'langc o1-a lrairr is at thc ratiou oI

'l'hc urirxinrr-rnt allowablc Los Angclcs ablzrsiorr valLrc Ior high clLrality
sttt'lrtcu c()Ll|se is

ll

lg

lh

1i

ri

Qucstion
n0.

)a

2tr

varluc o1-

l)llrV thcort,is re latctl to stucly o['rerilrvar cnginccring.

[)Lrctilitv tcct is pcrfbr-nrccl to llnd thc abliision valuc of aggrcgatc.

lxl0 10



2c

2f

..),-

).1
-LL

3c

3d

lting ancl ballapparatr-rs is r-rsccl to nreasr-n'c thc sizc ol-aggrcgatcs.

('Lll{ tcst is usccl lirr dctcrnrining thc thickncss ol'rigicl par,cnrct-tt

only.

RLrling graclicrrl is thc nraxiurr.rur gradient provic'lcd or1 a curvc.

'l'he u,iclth ol'a singlc larre cliviclcd roadway is 4.611.

I(crb is proviclccl to clrain oLrt the raitr watcr fi'olr-r the road sLrrlhce

only.

'l'hc slarrclarc1 hcight o[-a drivcr''s c),c ]ct.1 trbove the road sLrrlace

shor-rlcl bc 2.-5r-n irt llrcliarr roads.

CLrtback biturlcn is not a tvpc of bitr-rnren. but ratl-rer is an cxtcmally
appliccl llLricl to iucrcasc the viscosill, ol bitr-Lrncn.

'l'hc bitLrnrcu cnrtrlsion irncl cutback bitunrctr 21rc sanle prodLtct.

Choosc thc corrcct ilnswer

'l-he expansion ioints do not consist ol
a) Dowel bars
b).loin1 llllcr
c).loint scalcr
d)-l-ack coat
The r-r-rost corlnronly Lrsed bitr-rr-nen is.

a)'l'ar
b) vc 70

c) CLrtbacks
cl) V(i i0
'l'hc clill'crcncc in lretwee n thc sct ol- [i'onl axlc aud rcar axlc while
ncgotialing a lrorizontal curve is callecl

ar) l'sychological u'iclcning
tr) Oll trackirrg
c) Skidcling
d) Slipping
'l'l.rc 

c1e sign o1'thc highway shoLrld satisly
a) StrLrctr-rlul rcclui rcnrcr-tt

b) Draiuagc systcnr
c) lrconomicarl
d) Att thc abovc nrcntionccl
'l'he clcsirablc rclationship betwecn OSD and length of overlal<ir.rg

ZOIIC IS

a) Length ol-overtal<ing zone"OSD
b) Lcngth o[-ovcrtal<ir1g, zor]e' 2 OSt)
c) [.cngth ol'ovcrtaking zone - i OSD
c[) Lcngth o1'ovcrtal<ing zonc ,5 OSD

2i

2i

Qucstion
no.

3a

?o
-5

2'r

3b

1 x5-5
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Qucstions
no.

4

.5

6

7

PAI]'I'-I}, MAIIK-,I5
(Ansrvcr nny thrce qucstions)

Qucstions

What is the clilfbrcncc bctwccn Flcxible ancl Rigid pavcrrcnt?
l'.xplain the CIIR rrcthocl lbr clcte rnrining thc thickncss ol-
pavemenl layers?
What is horiz.orrtal cLrrvc in highway'] I)crivc thc cxprcssion fbr
racliLrs o1'horizontal curvc fbr a vchicte running at a cicsign speeci

o1"v' nr/s.
Wliat is conning ol-u,,hcc['] I)crivc thc cxprcssion lir sLlpcr

clevation ol caut lirr a railu,al, 11'1c1.. lrxplain c.int dclrcicncy ancl

cant cxccss of lailway tlacl<.

Wliat is ovcrtaliing sight clistzincc? I)crivc thc cx1-rlcssion for
ovcrtalting sight distancc in a I ighwa1,.

marhs

5 r10-15
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